Question 1

RUBRIC
Score Description
4 Response demonstrates thorough understanding of using equivalent

fractions to add and subtract fractions.
» Student finds a common denominatar. {1 point)
* Student clearly explains how fractions were converted to
equivalent fractions and added or subtracted. (3 point)

SAMPLE RESPONSES
Faster Bike:

1 5 _ on (18) 5 _on 8 5 _ .03
734 - 2535 = T35 - 2675 = T34p - 26y = 48y

| multiplied the top and bottom number in % by 8 so that both fractions would have a

denominator of 16. Then | subtracted my whole numbers and subtracted the numbers
on top in the fraction.

Freestyle Bike:

(1-8)
(238)

| multiplied the top and bottom number in % by 8 so that both fractions would have a

denominator of 16. Then | added my whole numbers and added the numbers on top in
the fraction.

1 3 _ 3 _ 8 3 _ 3

More Comfortable Bike:

1 3 _ e (144) 3 _oad 3 _aal

| multiplied the top and bottom number in % by 4 so that both fractions would have a
denominator of 8. Then | added the whole numbers and numerators of the fractions.



Question 2

RUBRIC
Score Description
4 Response demonstrates thorough understanding of using equivalent

fractions to add and subtract fractions.
» Student finds a common denominator. (1 point)
» Student clearly explains how fractions were converted to
equivalent fractions and added or subtracted. (3 point)

SAMPLE RESPONSES

Faster Bike:

5 ~3 _4n5 (34) _ . 5 A12 a2l A12 _5 9

| multiplied the top and bottom numbers in % by 4 so that both fractions would have a

denominator of 16. Then | borrowed % from 10 so that | could subtract %_ Once | had

enough 16ths to subtract from, | subtracted the numbers on top in the fractions and the
whole numbers.

Freestyle Bike:

5 ., 3 _ 5 (3-2) _ 5 6 _ 4pq11

| multiplied the top and bottom numbers in % by 2 so that both fractions would have a

denominator of 16. Then | added my whole numbers and the numerators of the
fractions.

More Comfortable Bike:

5 1 _an 5 (1-2) 5 2 _4aT
1055 +35 =105 +3— +1055 + 355 =135

(s-2)

| multiplied the top and bottom numbers in % by 2 so that both fractions would have a

denominator of 16. Then | added my whole numbers and the numerators of the
fractions.



Question 3

RUBRIC
Score Description
4 Response demonstrates thorough understanding of using equivalent

fractions to add and subtract fractions.
» Student finds a common denominator. (1 point)
« Student clearly explains how fractions were converted to
equivalent fractions and added or subtracted. (3 point)

SAMPLE RESPONSES

Faster Bike:

(32)
(4-2)

| multiplied the top and bottom numbers in % by 2 so that both fractions would have a

denominator of 8. Then | subtracted the whole numbers and the numerators of the
fractions.

7 3 _ 7
16g -1 =185 -1

Freestyle Bike:

+1£=19-=20

gol=1
] [
] L=
1

7,41 =497 4 102) _
18= +1==18=+1—=18

| multiplied the top and bottom numbers in % by 2 so that both fractions would have a
denominator of 8. Then | added the whole numbers and the numerators of the fractions.
Since | ended up with an improper fraction, | added one more variable and subtracted g

from % to get % left over.

More Comfortable Bike:

7 a T —an (72) _ . o14 Y TR
18§+8E_1BE+1BW_18E+BE_25E_2?E

| multiplied both numbers in —; by 2 so that both fractions would have a denominator of
16. Then | added the whole numbers and the numerators of the fractions. Since | ended

up with an improper fraction, | added one more to the whole and subtracted i—g from

21 - 5
16 which left me with 16"

7-2 7
]



Question 4

RUBRIC
Score Description
4 Response demonstrates thorough understanding of using equivalent

fractions to add and subtract fractions.
» Student finds a common denominator. (1 point)
« Student clearly explains how fractions were converted to
equivalent fractions and added or subtracted. (3 point)

SAMPLE RESPONSES

Faster Bike:

| multiplied the top and bottom numbers in % by 2 so that both fractions would have a
denominator of &. Then | subtracted my whole numbers and the numerators.

Freestyle Bike:

| multiplied the top and bottom numbers in % by 4 so that both fractions would have a
denominator of 8. Then | added my whole numbers and the numerators of the fractions.

Since | was left with an improper fraction, | added one more whole and subtracted %

from 1—81 and was left with %.

More Comfortable Bike:

| multiplied the top and bottom numbers in % by 2 so that both fractions would have a

denominator of 8. Then | added my whole numbers and the numerators of the fractions.
Since | was left with an improper fraction, | added one more to the whole numbers and

subtracted % from %.



Question 5

RUEBRIC
Score Description
3 Response demonstrates thorough understanding of using benchmark

fractions and number sense to mentally estimate the sum of fractions.
« Student gives an estimate that is reasonable. (1 point)
= Student clearly explains how fractions were converted to
benchmark fractions and combined. (2 point)

SAMPLE RESPONSES

Faster Bike:

| combined the whole numbers by using 27 + 20 = 47. For the fractions, | know that

3.1

[ 4
is very close to % and that % is very close to % | used ?11 +341,1 and got 1 %_

4 2 4

When | add that to my whole number of 47 | get a total of 48 % for my estimate.

Freestyle Bike:

5l

| combined the whole numbers and got 19 (15 + 4). For the fractions, | Know that 1—% IS

1 3 1 1
close to 1 and that s s close to 3 | used 1 +

to my whole

2
number | get 20 %

Meore Comfortable Bike:

| combined the whole numbers by grouping them first so | had 24 + 13 = 37. For the
fractions, | knew | could put the g and the % together to get isl-' which is the same as

1

| know that I—Tﬁ is also very close to % | used % +143 and got 1 %.

2 4

1+3+Landgot1 1 Whenladd that

1

2

Question 6
RUEBRIC
Score Description
2 Fesponse demonstrates thorough understanding of using benchmark

fractions and number sense to assess the reasonableness of answers.

« Student clearly explains whether or not the answer is reasonable.

(2 points)




SAMPLE RESPONSE

% is very close to % % is very close to % Both of the benchmark fractions have one for the
numeratar, but a different number of pieces in the whole_ If the whole has 4 pieces, each piece

will be smaller than a whole with only 3 pieces. So, it is not reasonable to say that more

people gave the bike four stars because ?11 iz smaller than %

Question 7
RUBRIC
Score Description
2 Response demonstrates thorough understanding of using benchmark

fractions and number sense to assess the reasonableness fo answers.
s Student clearly explains whether or not the answer is reasonable.
(2 points)

SAMPLE RESPONSE

Yes, this is reasonable. 1—% is very close to % and % is nearly % If you put % and
5 7 1

— |5 over <.

1 T a 1.
+ together you would have 5. Since - is the same as 4. 45 3

Question 8
RUBRIC

Score Description

2 Response demonstrates thorough understanding of using benchmark
fractions and numer sense to assess the reasonableness of answers.
s Student clearly explains whether or not the answer is reasonable.
(2 points)

SAMPLE RESPONSE

3—1 is very close to % 1—% is very close to % If we put % and % together, we would
end up with less than g, because % is % + i. So, it is not reasonable to say that

over% rated the bike three stars or more.



Question 9

RUBRIC
Part a.
Score Description
3 Response demonstrates thorough understanding of using benchmark
fractions and number sense to mentally estimate the sum of fractions.
« Student gives an estimate that is reasonable. (1 point)
« Student clearly explains how fractions were converted to
benchmark fractions and combined. (2 point)
Part b.
Score Description
4 Response demonstrates thorough understanding of converting
measurement units.
» Student finds a common demoninator. (1 point)
» Student clearly explains how fractions were converted to
equivalent fractions and added or subtracted. (2 point)
» Student correctly identifies accuracy of work. (1 point)

SAMPLE RESPONSES
Part a.

| know that E is very close to E . If | add E to the other fractic:n of l . | would have %.

which is the same - 2 That means that apprommately 1 of the rlders said they
would "definitely” buy the bike.

Part b.

(38

(7-8

-.._..-

= ? +2—4:ﬂ
~ 56 56 56

. :_h
87)

&Jln—l
=1lea

e

| multiplied the top and bottom number in % by 7 and the top and bottom numbers in %

by &. This way | ended up with two fractions with a denominator of 56. Then | added the
numerators.

My estimate was 2 gﬁ is the same as 2 and the exact answer is gé 50 my estimate
was very reasonable.



